doi: 10. 3969/j. issn. 0490-6756. 2020. 02. 003

一类变时滞模糊神经网络系统解的渐近概周期性

罗 扬,李洪旭

(四川大学数学学院,成都 610064)

摘 要:本文给出了一类变时滞模糊神经网络系统解的概周期性和全局指数稳定性结果及该 系统渐近概周期解的具体形式.

关键词:模糊神经网络;渐近概周期;全局指数稳定;变时滞 中图分类号:0175.12 **文献标识码**:A **文章编号**:0490-6756(2020)02-0218-07

Asymptotical almost periodicity of solutions of a class of fuzzy cellular neural networks with varying time-delays

LUO Yang, LI Hong-Xu

(School of Mathematics, Sichuan University, Chengdu 610064, China)

Abstract: In this paper, we give some results on both asymptotical almost periodicity and global exponential stability of the solutions of a class of fuzzy cellular neural networks with time-varying delays. The concrete forms of the asymptotical almost solutions of this system are presented.

Keywords: Fuzzy cellular neural network; Asymptotical almost periodicity; Global exponential stability; Time-varying delay

(2010 MSC 34K14, 34K25)

1 Introduction

The traditional cellular neural networks (CNNs) proposed by Chua and Yang^[1] have been widely developed (see Refs. [1-3] and the references therein). Based on CNNs, Yang^[4] introduced the fuzzy cellular neural networks (FC-NNs), which added fuzzy logic to the structure of traditional CNNs. The periodicity and almost periodicity of CNNs and FCNNs have been paid great attention in the past decade due to their potential application in classification, associative memory parallel computation and other fields (see, *e. g.*, Refs. [5-10] and the references there-

in).

There are few works of the almost periodicity for FCNNs with delays. Let us give a brief summary in this line. Huang^[11-12] studied the almost periodicity for FCNNs with time-varying delays and multi-proportional delays. Xu and Chen^[13] presented some results on the almost periodicity for FCNNs with time-varying delays in leakage terms. Liang, Qian and Liu^[14] studied pseudo almost periodic solutions for FCNNs with multiproportional delays. To the best of our knowledge, there is no result on the asymptotical almost periodicity of the solutions for FCNNs with time-varying delays.

收稿日期: 2019-03-14

基金项目:国家自然科学基金(11971329,11561077)

作者简介:罗扬(1993-),重庆江津人,硕士生,主要研究方向为泛函分析. E-mail: 707062854@qq. com

通讯作者: 李洪旭. E-mail: hoxuli@scu. edu. cn

In this paper, we consider the asymptotical almost periodicity and global exponential stability

of the following FCNNs systems with time-varying delays:

$$\dot{x}_{i}(t) = -a_{i}(t)x_{i}(t) + \sum_{j=1}^{n} b_{ij}(t)f_{j}(x_{j}(t)) + \sum_{j=1}^{n} c_{ij}(t)d_{j}(t) + \bigwedge_{j=1}^{n} \alpha_{ij}(t)g_{j}(x_{j}(t-\tau_{ij}(t))) + \\ \bigvee_{j=1}^{n} \beta_{ij}(t)g_{j}(x_{j}(t-\tau_{ij}(t))) + \bigwedge_{j=1}^{n} H_{ij}(t)d_{j}(t) + \bigvee_{j=1}^{n} G_{ij}(t)d_{j}(t) + I_{i}(t), \\ t \ge t_{0} \ge 0, i \in J = \{1, 2, \cdots, n\}$$

$$(1)$$

where $x_i(t)$ is the ith neuron's state, $a_i(t)$ is the ith neuron's self-inhibition, $b_{ij}(t)$ and $c_{ij}(t)$ are feedback template and feedforward template, $d_i(t)$ is the ith neuron's input, \wedge and \vee are the fuzzy AND and fuzzy OR operations, $\alpha_{ij}(t)$ and $\beta_{ij}(t)$ are the elements of the fuzzy feedback MIN template and fuzzy feedback MAX template, $\tau_{ij} \ge$ 0 is transmission delay, $f_j(x)$ and $g_j(x)$ are activation functions, $H_{ij}(t)$ and $G_{ij}(t)$ are the elements of the fuzzy feedforward MIN template and fuzzy feedforward MAX template and $I_i(t)$ is the time-varying external input of the ith neuron. We present some results on both global exponential stability and asymptotical almost periodicity of the solutions for (1) (Theorem 3.2 and 3.3) and get the structure of the solutions for (1) (Corollary 3.4).

The initial conditions of system (1) are of the form

 $x_{i}(t) = \varphi_{i}(t), t \in [t_{0} - \tau_{i}, t_{0}], i \in J$ (2) where $\tau_{i} = \max_{i,j \in J} \tau_{ij}^{*}, \tau_{ij}^{*} = \sup_{t \in \mathbf{R}} \tau_{ij}(t), \varphi_{i}(t)$ is continuous on $[t_{0} - \tau_{i}, t_{0}].$

2 Preliminaries

The norms on \mathbf{R}^n is given by $||x|| = \max_{i \in J} |x_i|$ for $x = (x_1, x_2, \dots, x_n) \in \mathbf{R}^n$. $BC(\mathbf{R}, \mathbf{R}^n)$ denotes the Banach space of bounded and continuous functions from \mathbf{R} to \mathbf{R}^n with supremum norm $||f|| = \sup_{t \in \mathbf{R}} ||f(t)||$. Even though the notation $|| \cdot ||$ is used for norms in different spaces, no confusion should arise.

Definition 2. $\mathbf{1}^{[15]}$ A set $S \subset \mathbf{R}$ is said to be relatively dense if there exists L > 0 such that $[a, a+L] \cap S \neq \emptyset$ for all $a \in \mathbf{R}$. A function $u \in BC(\mathbf{R}, \mathbf{R}^n)$ is said to be almost periodic on **R** if for

any $\varepsilon > 0$, the set $T(u, \varepsilon) = \{\tau: || u(t+\tau) - u(t) || < \varepsilon, t \in \mathbf{R}\}$ is relatively dense. Denote by $AP(\mathbf{R}^n)$ the space of almost periodic functions with supremum norm.

Definition 2. $2^{[15]}$ A set $S \subset AP(\mathbb{R}^n)$ is a uniformly almost periodic set if it is uniformly bounded, and if given $\varepsilon > 0$, then $T(S, \varepsilon) = \bigcap_{f \in S} T(f, \varepsilon)$ is relatively dense and includes an interval about 0.

Definition 2. $\mathbf{3}^{[15]}$ Let φ be defined on $\mathbf{R}^+ = [0, +\infty)$ to \mathbf{R}^n . Then the continuous function φ is asymptotically almost periodic (abbr. a. a. p.) if and only if there is an almost periodic function p and a continuous function q defined on \mathbf{R}^+ with $\lim_{t\to\infty} ||q(t)|| = 0$ such that $\varphi = p + q$ on \mathbf{R}^+ . The function p is called the almost periodic part.

Lemma 2. $4^{[15]}$ (i) Any finite set of functions in $AP(\mathbf{R}^n)$ is a uniformly almost periodic set.

(ii) A continuous function f is a. a. p. if and only if for every $\varepsilon > 0$, there exists $T(\varepsilon) \ge 0$ such that $\{\tau: \sup_{t \ge T, t+\varepsilon \ge T} || f(t+\tau) - f(t) || < \varepsilon\}$ is relatively dense in \mathbb{R}^+ .

Definition 2. $\mathbf{5}^{[11]}$ A solution y(t) of system (1) is global exponential stable if there exist two positive constants μ and M such that

 $\| y(t) - x(t) \| \leqslant M e^{-\mu t}, t \geq t_0$

for any solution x(t) of system (1).

We will use the following assumptions:

(H₁) $a_i, b_{ij}, c_{ij}, d_j, \alpha_{ij}, \beta_{ij}, \tau_{ij}, H_{ij}, G_{ij}, I_i$ are a. a. p. $i, j \in J$;

(H₂) For $j \in J$, there exist nonnegative constants L_i^f, L_i^g such that

 $\begin{aligned} &|f_j(u) - f_j(v)| \leqslant L_j^f |u - v|, \\ &|g_j(u) - g_j(v)| \leqslant L_j^g |u - v|, u, v \in \mathbf{R}; \\ &(\mathbf{H}_3) \text{ For each } i \in J \end{aligned}$

$$M[a_i] = \lim_{T \to +\infty} \frac{1}{T} \int_t^{t+T} a_i(s) \, \mathrm{d}s > 0$$

and there exist a bounded and continuous function $\tilde{a}_i: \mathbf{R} \rightarrow (0, +\infty)$ and a positive constant K_i such that

 $e^{\int_{s}^{t} a_{i}(u) du} \leq K_{i} e^{\int_{s}^{t} a_{i}(u) du} \text{ for all } t, s \in \mathbf{R} \text{ and } t - s \geq 0;$ (H₄) There exists $\eta > 0$ such that $\max_{i \in I} i(t) < 1$

$$\eta <0 \text{ for } t \ge t_0, \text{ where} \\ \lambda_i(t) = -a_i(t) + \\ \sum_{j=1}^n (|b_{ij}(t)| L_j^f + (|\alpha_{ij}(t)| + |\beta_{ij}(t)|) L_j^g e^{\frac{\pi}{2} ||\tau_{ij}||}), i \in J.$$

Lemma 2. $\mathbf{6}^{[4]}$ For $i, j \in J$, let $x_j, x'_j, p_{ij}, q_{ij} \in \mathbf{R}$, $k_j: \mathbf{R} \rightarrow \mathbf{R}$ are continuous functions, then

$$\frac{\left|\sum_{j=1}^{n} p_{ij}k_{j}(x_{j}) - \sum_{j=1}^{n} p_{ij}k_{j}(x_{j}')\right| \leq \sum_{j=1}^{n} |p_{ij}| |k_{j}(x_{j}) - k_{j}(x_{j}')|$$

and

$$\sum_{j=1}^{n} q_{ij}k_{j}(x_{j}) - \sum_{j=1}^{n} q_{ij}k_{j}(x'_{j}) \leqslant \sum_{j=1}^{n} |q_{ij}| |k_{j}(x_{j}) - k_{j}(x'_{j})|.$$

Remark 1 It is not hard for us to see that the assumptions $(H_1) \sim (H_3)$ and Lemma 2. 6 guarantee the existence and uniqueness of solution of system (1)-(2). Here we omit the details. Similar result can be found in Ref. [13].

3 Main results

Lemma 3.1 Assume that $(H_1) \sim (H_4)$ hold. Then the solution u(t) of system (1)-(2) is bounded on $[t_0, +\infty)$.

Proof Let $K(t) = \max_{s \leq t} || u(s) ||$. Then $|| u(t) || \leq K(t)$. Denote

$$\begin{split} M_{i,j} &= \| b_{ij} \| \left(\left| f_j(u_j(t_0)) \right| + L_j^f \left| u_j(t_0) \right| \right) + \left(\| c_{ij} \| + \| H_{ij} \| + \| G_{ij} \| \right) \| d_j \| + \\ & \left(\| a_{ij} \| + \| \beta_{ij} \| \right) \left(\left| g_j(u_j(t_0)) \right| + L_j^g \left| u_j(t_0) \right| \right), \\ M &= \max_i \left\{ \| I_i \| + \sum_{j=1}^n M_{i,j} \right\}. \end{split}$$

Without loss of generality, we assume that M > 0. Then we only need to prove

$$K(t) \leq \max\left\{K(t_0), \frac{M}{\eta}\right\}, t \geq t_0$$
(3)

where η is given in (H₄). For $t_1 \ge t_0$, we first prove that there exists $\delta > 0$ such that

$$K(t) \leq \max\left\{K(t_1), \frac{M}{\eta}\right\}, t \in (t_1, t_1 + \delta) \qquad (4)$$

If $K(t_1) = 0$, (4) holds since K(t) is continuous and $M/\eta > 0$. So we may assume that $K(t_1) >$

0, and we have two cases.

Case 1. Assume that $|| u(t_1) || < K(t_1)$. Then $|| u(t) || < K(t_1)$ for $t \in (t_1, t_1 + \delta)$ with some $\delta > 0$. So $K(t) = K(t_1)$ for $t \in (t_1, t_1 + \delta)$, and (4) holds.

Case 2. Assume that $|| u(t_1) || = K(t_1)$. By (H₂), (H₄) and Lemma 2.6, for $| u_i(t) | > 0, i \in J$,

$$\left\{ \frac{\mathrm{d}}{\mathrm{d}t} \mid u_{i}(t) \mid \right\}_{t=t_{1}} = \operatorname{sign}(u_{i}(t_{1}))(-a_{i}(t_{1}) u_{i}(t_{1}) + \sum_{j=1}^{n} b_{ij}f_{j}(u_{j}(t_{1})) + \sum_{j=1}^{n} c_{ij}(t_{1})d_{j}(t_{1}) + \sum_{j=1}^{n} c_{ij}(t_{1})d_{j}(t_{1}) + \sum_{j=1}^{n} a_{ij}(t_{1})g_{j}(u_{j}(t_{1}-\tau_{ij}(t_{1}))) + \sum_{j=1}^{n} \beta_{ij}(t_{1})g_{j}(u_{j}(t_{1}-\tau_{ij}(t_{1}))) + \sum_{j=1}^{n} H_{ij}(t_{1})d_{j}(t_{1}) + \sum_{j=1}^{n} G_{ij}(t_{1})d_{j}(t_{1}) + I_{i}(t_{1}) \right) \leq -a_{i}(t_{1}) |u_{i}(t_{1})| + \sum_{j=1}^{n} |b_{ij}(t_{1})| (L_{j}^{f}|u_{j}(t_{1}) - u_{j}(t_{0})| + |f_{j}(u_{j}(t_{0}))|) + \sum_{j=1}^{n} (|a_{ij}(t_{1})| + |\beta_{ij}(t_{1})|) (L_{j}^{g}|u_{j}(t_{1}-\tau_{ij}(t_{1})) - u_{j}(t_{0})| + |g_{j}(u_{j}(t_{0}))|) + \sum_{j=1}^{n} (|c_{ij}(t_{1})| + |H_{ij}(t_{1})| + |G_{ij}(t_{1})|) |d_{j}(t_{1})| + |I_{i}(t_{1})| \leq 1$$

$$-a_{i}(t_{1})|u_{i}(t_{1})| + \sum_{j=1}^{n} (|b_{ij}(t_{1})|L_{j}^{f}|u_{j}(t_{1})| + (|\alpha_{ij}(t_{1})| + |\beta_{ij}(t_{1})|)L_{j}^{g}|u_{j}(t_{1} - \tau_{ij}(t_{1}))|) + M \leq \lambda_{i}(t_{1}) ||u(t_{1})|| + M < -\eta K(t_{1}) + M.$$

Thus $\left\{\frac{\mathrm{d}}{\mathrm{d}t} | u_i(t) | \right\}_{t=t_1} < 0, i \in J$, if $K(t_1) \ge M/\eta$. So $K(t) = K(t_1), t \in (t_1, t_1 + \delta)$ for some $\delta > 0$, and (4) holds. If $K(t_1) < M/\eta$, $K(t) < M/\eta$ for $t \in (t_1, t_1 + \delta)$ with some $\delta > 0$ since K(t) is continuous, and then (4) holds.

Let $\gamma = \sup\{t \ge t_0 : K(t) \le \max\{K(t_0), M/\eta\}\}$. If $\gamma \in \mathbf{R}$, we have $K(\gamma) \le \max\{K(t_0), M/\eta\}$. Meanwhile, by (4), there exists $\delta > 0$ such that $K(t) \le \max\{K(\gamma), M/\eta\}$ for $t \in (\gamma, \gamma + \delta)$. Therefore, $K(t) \le \max\{K(t_0), M/\eta\}$ for $t \in [\gamma, \gamma + \delta)$, which contradicts the definition of γ . Thus $\gamma = + \infty$, and (3) is true.

Theorem 3.2 Assume that $(H_1) \sim (H_4)$ hold. Then the solution u(t) of system (1)-(2) is a. a. p.

Proof By Lemma 3.1, u(t) is bounded on $[t_0, +\infty)$. Denote

$$f_{j}^{u} = \max_{t \in [-\|\|u\|_{t_{0}}, \|\|u\|_{t_{0}}]} f_{j}(t),$$

$$g_{j}^{u} = \max_{t \in [-\|\|u\|_{t_{0}}, \|\|u\|_{t_{0}}]} g_{j}(t), j \in J,$$

and

 $\bar{\rho} = \max_{i,j \in J} \| \rho_{ij} \|,$ where $\rho = c, \alpha, \beta, H, G, \tau,$ $\bar{\zeta} = \max_{j \in J} \| \zeta_j \|,$

where
$$\zeta = d, L^g, f^u, g^u$$

 $P = \{a_i, b_{ij}, c_{ij}, d_j, \alpha_{ij}, \beta_{ij}, H_{ij}, G_{ij}, I_i: i, j \in J\}$

and

$$\| u \|_{t_0} = \sup_{t \in [t_0 - \overline{\tau}, \infty)} \| u(t) \|.$$

For $\boldsymbol{\xi} = \boldsymbol{\xi}^{ap} + \boldsymbol{\xi}^{s} \in P$ with $\boldsymbol{\xi}^{ap}$ the almost periodic part and $\lim_{t \to \infty} \| \boldsymbol{\xi}^{s}(t) \| = 0$. Denote

$$P^{ap} = \{ \boldsymbol{\xi}^{ap} : \boldsymbol{\xi} = \boldsymbol{\xi}^{ap} + \boldsymbol{\xi}^{s} \in P \},$$

 $P^{s} = \{\xi^{s} : \xi = \xi^{ap} + \xi^{s} \in P\}$ and

$$\sigma = \| u \|_{t_0} + n(\bar{f}^u + 2\bar{g}^u + \bar{c} + 3\bar{d} + \bar{H} + \bar{G}) + 1$$
(5)

By Lemma 2.4, P^{ap} is uniformly almost periodic for $\varepsilon > 0, i, j \in J$ and $w \in T(P^{ap}, \frac{\eta}{4\sigma}\varepsilon) \cap \mathbf{R}^+$. Denote

$$v(t) = u(t+w) - u(t), \psi(t) = \max_{s \in t} \{ e^{\frac{\pi}{2}s} \parallel v(s) \parallel \}, t \ge t_0.$$

Let $\gamma > t_0$, such that

$$|\boldsymbol{\xi}^{s}(t+w)-\boldsymbol{\xi}^{s}(t)| < \frac{\eta}{4\sigma} \boldsymbol{\varepsilon}, \boldsymbol{\xi}^{s} \in P^{s}, t \geq \gamma.$$

Then

$$|\xi(t+w)-\xi(t)| \leq |\xi^{ap}(t+w)-\xi^{ap}(t)| + |\xi^{s}(t+w)-\xi^{s}(t)| < \frac{\eta}{2\sigma}, \xi \in P, t \geq \gamma$$
(6)

For $t_1 \ge \gamma$, we claim that there exists $\delta > 0$ such that

$$\psi(t) \leq \max\{\psi(t_1), \varepsilon e^{\frac{\pi}{2}t_1}\}, t \in (t_1, t_1 + \delta)$$
(7)
If $\psi(t_1) = 0$, (7) holds since $\psi(t)$ is continu-

ous and $\varepsilon e^{\frac{\pi}{2}t_1} > 0$. So we may assume that $\psi(t_1) > 0$, and we have the following 2 cases.

Case 1. Assume that $e^{\frac{\pi}{2}t_1} \| v(t_1) \| < \psi(t_1)$. Then $e^{\frac{\pi}{2}t} \| v(t) \| < \psi(t_1)$ for $t \in (t_1, t_1 + \delta)$ with some $\delta > 0$ since $e^{\frac{\pi}{2}t} \| v(t) \|$ is continuous, and (7) holds.

Case 2. $e^{\frac{\pi}{2}t_1} \parallel v(t_1) \parallel = \psi(t_1)$. Then by (H₂), Lemma 2.6, (5) and (6), for $|v_i(t)| > 0, i \in J$,

$$v'_{i}(t) = -a_{i}(t+w)u_{i}(t+w) + a_{i}(t)u_{i}(t) + \sum_{j=1}^{n} \left[b_{ij}(t+w)f_{j}(u_{j}(t+w)) - b_{ij}(t)f_{j}(u_{j}(t))\right] + \sum_{j=1}^{n} \left[c_{ij}(t+w)d_{j}(t+w) - c_{ij}(t)d_{j}(t)\right] + \sum_{j=1}^{n} a_{ij}(t+w)g_{j}(u_{j}(t+w-\tau_{ij}(t+w))) - \sum_{j=1}^{n} a_{ij}(t)g_{j}(u_{j}(t-\tau_{ij}(t))) + \sum_{j=1}^{n} a_{jj}(t)g_{j}(u_{j}(t-\tau_{ij}(t))) + \sum_{j=1}^{n} a_{jj}(t)g_{j}(t-\tau_{ij}(t)) + \sum_{j=1}^{n} a_{jj}(t-\tau_{ij}(t)) + \sum_{j=1}^{n} a_{jj}(t-\tau_{ij}(t)) + \sum_{$$

$$\begin{split} & \bigvee_{j=1}^{v} \beta_{ij} (t+w) g_{j} (u_{j} (t+w-\tau_{ij} (t+w))) - \int_{j=1}^{v} \beta_{ij} (t) g_{j} (u_{j} (t-\tau_{ij} (t))) + \\ & \bigwedge_{j=1}^{n} H_{ij} (t+w) d_{j} (t+w) - \int_{j=1}^{n} H_{ij} (t) d_{j} (t) + \int_{j=1}^{v} G_{ij} (t+w) d_{j} (t+w) - \\ & \bigvee_{j=1}^{v} G_{ij} (t) d_{j} (t) + I_{i} (t+w) - I_{i} (t) \leqslant \\ & -a_{i} (t) v_{i} (t) + |a_{i} (t+w) - a_{i} (t)| \parallel u \parallel_{i_{0}} + \sum_{j=1}^{n} \left[|b_{ij} (t+w) - b_{ij} (t)| |\overline{f}^{u} + |b_{ij} (t)| L_{j}^{f}| v_{j} (t)| \right] + \\ & \sum_{j=1}^{n} \left[|c_{ij} (t+w) - c_{ij} (t)| |\overline{d} + |d_{j} (t+w) - d_{j} (t)| |\overline{c}| \right] + \\ & \sum_{j=1}^{n} \left[(|a_{ij} (t+w) - a_{ij} (t)| + |\beta_{ij} (t+w) - \beta_{ij} (t)|)\overline{g}^{u} + (|a_{ij} (t)| + |\beta_{ij} (t)|)L_{j}^{e}| v_{j} (t-\tau_{ij} (t))| \right] + \\ & \sum_{j=1}^{n} \left[(|H_{ij} (t+w) - H_{ij} (t)| + |G_{ij} (t+w) - G_{ij} (t)|)\overline{d} + \\ & |d_{j} (t+w) - d_{j} (t)| (\overline{H} + \overline{G}) \right] + I_{i} (t+w) - I_{i} (t) \leqslant \\ & -a_{i} (t) v_{i} (t) + \sum_{j=1}^{n} \left[|b_{ij} (t)| L_{j}^{f}| v_{j} (t)| + (|a_{ij} (t)| + |\beta_{ij} (t)|)L_{j}^{e}| v_{j} (t-\tau_{ij} (t))| \right] + \\ & \left[\|u\|_{i_{0}} + n(\overline{f}^{u} + 2 \overline{g}^{u} + \overline{c} + 3 \overline{d} + H + \overline{G}) + 1 \right] \frac{\eta}{2\sigma} \varepsilon = \\ & -a_{i} (t) v_{i} (t) + \sum_{j=1}^{n} \left[|b_{ij} (t)| L_{j}^{f}| v_{j} (t)| + (|a_{ij} (t)| + |\beta_{ij} (t)|)L_{j}^{e}| v_{j} (t-\tau_{ij} (t))| \right] + \frac{\eta}{2} \varepsilon. \end{split}$$

Noticing that

 $|v_j(t-\tau_{ij}(t))| \leqslant \psi(t-\tau_{ij}(t)) e^{\frac{\pi}{2}(\tau_{ij}(t)-t)} \leqslant \psi(t) e^{\frac{\pi}{2}(||\tau_{ij}|||-t)}, t \ge \gamma,$ by (H₄) we have

 $\operatorname{sign}(v_i(t))v'_i(t) \leq$

$$-a_{i}(t) | v_{i}(t) | + \sum_{j=1}^{n} \left[| b_{ij}(t) | L_{j}^{f} + (| \alpha_{ij}(t) | + | \beta_{ij}(t) |) L_{j}^{g} e^{\frac{\pi}{2} || \tau_{ij} ||} \right] \psi(t) e^{-\frac{\pi}{2}t} + \frac{\eta}{2} \varepsilon = -a_{i}(t) | v_{i}(t) | + (\lambda_{i}(t) + a_{i}(t)) \psi(t) e^{-\frac{\pi}{2}t} + \frac{\eta}{2} \varepsilon.$$

Then, for the index such that $e^{\frac{\pi}{2}t_1} |v_i(t_1)| = \psi(t_1)$,

$$\left\{ \frac{\mathrm{d}}{\mathrm{d}t} \left(\mathrm{e}^{\frac{\pi}{2}t} \left| v_{i}(t) \right| \right) \right\}_{t=t_{1}} = \frac{\eta}{2} \mathrm{e}^{\frac{\pi}{2}t_{1}} \left| v_{i}(t_{1}) \right| + \mathrm{e}^{\frac{\pi}{2}t_{1}} \mathrm{sign}(v_{i}(t_{1})) v'_{i}(t_{1}) \leqslant \\ \left(\frac{\eta}{2} - a_{i}(t_{1}) + \lambda_{i}(t_{1}) + a_{i}(t_{1}) \right) \psi(t_{1}) + \mathrm{e}^{\frac{\pi}{2}t_{1}} \frac{\eta}{2} \varepsilon < -\frac{\eta}{2} \psi(t_{1}) + \mathrm{e}^{\frac{\pi}{2}t_{1}} \frac{\eta}{2} \varepsilon.$$

Thus $\left\{\frac{\mathrm{d}}{\mathrm{d}t}(\mathrm{e}^{\frac{\pi}{2}t}|v_i(t)|)\right\}_{t=t_1} < 0, i \in J \text{ if } \psi(t_1) \geq \varepsilon e^{\frac{\pi}{2}t_1}$. So $\psi(t) = \psi(t_1)$ for $t \in (t_1, t_1 + \delta)$ with some $\delta > 0$ by the definition of $\psi(t)$, and then (7) holds.

Otherwise, if $\psi(t_1) \leq \varepsilon e^{\frac{\pi}{2}t_1}$, $\psi(t) \leq \varepsilon e^{\frac{\pi}{2}t_1}$ for $t \in (t_1, t_1 + \delta)$ with some $\delta > 0$ since $\psi(t)$ is continuous, and then (7) holds.

Next we prove that

$$\psi(t) \leqslant_{\mathbf{\varepsilon}} e^{\frac{\pi}{2}t}, t \geqslant \gamma \tag{8}$$

Let $\gamma_1 = \sup\{t \ge t_0 : \psi(t) \le \varepsilon \ e^{\frac{\pi}{2}t}\}$. If $\gamma_1 \in \mathbf{R}$, we have $\psi(\gamma_1) \le \varepsilon \ e^{\frac{\pi}{2}\gamma_1}$. Meanwhile, by (7), there

exists $\delta > 0$ such that $\psi(t) \leq \max\{\psi(\gamma_1), \varepsilon e^{\frac{\pi}{2}t}\}$ for $t \in (\gamma_1, \gamma_1 + \delta)$. Therefore, $\psi(t) \leq \varepsilon e^{\frac{\pi}{2}t}$ for $t \in [\gamma_1, \gamma_1 + \delta)$, which contradicts the definition of γ_1 . Thus $\gamma_1 = +\infty$, (8) is true.

Now, it follows from (8) that
$$\| u(t+w) - u(t) \| = \| v(t) \| \leq e^{-\frac{\pi}{2}t} \psi(t) \leq e^{-\frac{\pi}{2}t} \varepsilon e^{\frac{\pi}{2}t} = \varepsilon, t \geq \gamma.$$

This implies that

$$\begin{split} A &= \{ w_{:} \sup_{t \geq y, t+w \geq y} \| u(t+w) - u(t) \| < 2\varepsilon \} \supset \\ T \Big(P^{ap}, \frac{\eta}{4\sigma} \varepsilon \Big) \cap \mathbf{R}^{+} , \end{split}$$

which means that A is relatively dense in \mathbf{R}^+ since

 $T\left(P^{ap}, \frac{\eta}{4\sigma}\varepsilon\right)$ is relatively dense in \mathbb{R}^+ . Then *u* is a. a. p. by Lemma 2. 4 (ii).

Theorem 3.3 Assume that $(H_1) \sim (H_4)$ hold. Then any solution of system (1) is global exponential stable.

Proof Let u(t), x(t) are two solutions of (1), $w(t) = u(t) - x(t), t \in [t_0, +\infty)$. It suffices to prove that there exist two positive constants μ and M such that

 $\| w(t) \| \leqslant M e^{-\mu t}, t \ge t_0$ Let $\theta(t) = \max_{s \leqslant t} \{ e^{\eta s/2} \| w(s) \| \}$. If $\theta(t) = 0$ for

 $t \in [t_0, +\infty)$, (9) holds. If $\theta(t) = 0$, then $\theta(s) =$

0 for $s \in [t_0, t]$. If $\theta(t) > 0$, then $\theta(s) > 0$ for $s \ge t$. So to prove (9), we only need to consider $t \in [t_0, \infty)$ such that $\theta(t) > 0$. Without loss of generality, we may assume that $\theta(t) > 0, t \in [t_0, \infty)$.

Let $t_1 \ge t_0$ with $\theta(t_1) > 0$. We claim that, for some $\delta > 0$,

$$\theta(t) = \theta(t_1), t \in (t_1, t_1 + \delta)$$
(10)

If $e^{\eta t_1/2} \| w(t_1) \| < \theta(t_1)$, then $e^{\eta t/2} \| w(t) \| < \theta(t_1)$ for $t \in (t_1, t_1 + \delta)$ with some $\delta > 0$ since $e^{\eta t/2} \| w(t) \|$ is continuous, and (10) holds. If $e^{\eta t_1/2} \| w(t_1) \| = \theta(t_1)$, for $| w_i(t_1) | > 0, i \in J$, then

$$\left\{ \frac{\mathrm{d}}{\mathrm{d}t} \left(\mathrm{e}^{\eta t/2} \left| w_{i}(t) \right| \right) \right\}_{t=t_{1}} = \frac{\eta}{2} \mathrm{e}^{\eta t_{1}/2} \left| w_{i}(t_{1}) \right| + \mathrm{e}^{\eta t_{1}/2} \mathrm{sign}(w_{i}(t_{1})) \left\{ -a_{i}(t_{1})w_{i}(t_{1}) + \sum_{i=1}^{n} b_{ii}(t_{1}) \left[f_{j}(u_{j}(t_{1})) - f_{j}(x_{j}(t_{1})) \right] + \sum_{j=1}^{n} \alpha_{ij}(t_{1}) \left[g_{j}(u_{j}(t_{1} - \tau_{ij}(t_{1}))) - g_{j}(x_{j}(t_{1} - \tau_{ij}(t_{1}))) \right] + \sum_{j=1}^{n} \beta_{ij}(t_{1}) \left[g_{j}(u_{j}(t_{1} - \tau_{ij}(t_{1}))) - g_{j}(x_{j}(t_{1} - \tau_{ij}(t_{1}))) \right] \right\}$$

$$= \mathrm{e}^{\eta t_{1}/2} \left\{ -(a_{i}(t_{1}) - \eta/2) \left| w_{i}(t_{1}) \right| + \sum_{j=1}^{n} \left| b_{ii_{1}j}(t_{1}) \right| L_{j}^{f} \left| w_{j}(t_{1}) \right| + \sum_{j=1}^{n} \left(\left| \alpha_{ij}(t_{1}) \right| + \left| \beta_{ij}(t_{1}) \right| \right) L_{j}^{g} \right| w_{j}(t_{1} - \tau_{ij}(t_{1})) \right] \right\}$$

$$= \left\{ -\left(a_{i}(t_{1}) - \frac{\eta}{2}\right) + \sum_{j=1}^{n} \left[\left| b_{ij}(t_{1}) \right| L_{j}^{f} + \left(\left| \alpha_{ij}(t_{1}) \right| + \left| \beta_{ij}(t_{1}) \right| \right) L_{j}^{g} \right] \mathrm{e}^{\frac{\eta t_{1}}{2}} \right\| w(t_{1}) \right\|$$

This simply implies (10) holds for some $\delta > 0$. It follows from (10) that $\theta(t) \leq \theta(t_0)$ for $t \geq t_0$. Then $\| w(t) \| \leq \theta(t_0) e^{-\eta t/2}$ for all $t \geq t_0$. This follows that (9) holds with $M = \theta(t_0), \mu = \eta/2$.

By Theorem 3. 2 and 3. 3, we have the following corollary immediately.

Corollary 3.4 Assume that $(H_1) \sim (H_4)$ hold. Then any solution of (1) is a. a. p., and there exists a function $p \in AP(\mathbb{R}^n)$ such that any solution of system (1) has the form p + q with $\lim_{t \to +\infty} q(t) = 0$.

References:

- [1] Chua L O, Yang L. Cellular neural networks: theory [J]. IEEE Trans Circuits Syst, 1988, 35: 1257.
- [2] Cao J, Ho D W C, Huang X. LMI-based criteria

for global robust stability of bidirectional associative memory networks with time delay [J]. Nonliear Anal Theor, 2007, 66: 1558.

- [3] Huang X, Cao J. Generalized synchronization for delayed chaotic neural networks: a novel coupling scheme [J]. Nonlinearity, 2006, 19: 2797.
- [4] Yang T, Yang L B, Wu C W, et al. Fuzzy cellular neural networks: theory [C]//Proceedings of IEEE International Workshop on Cellular Neural Networks and Applications, 1996: 181.
- [5] Kao Y, Shi L, Xie J, et al. Global exponential stability of delayed Markovian jump fuzzy cellular neural networks with generally incomplete transition probability [J]. Neural Netw, 2015, 63: 18.
- [6] Bao H. Existence and exponential stability of periodic solution for BAM fuzzy Cohen-CGrossberg neural networks with mixed delays [J]. Neural Process Lett, 2016, 43: 871.

- Yang W. Periodic solution for fuzzy Cohen-CGrossberg BAM neural networks with both time-varying and distributed delays and variable coefficients [J]. Neural Process Lett, 2014, 40: 51.
- [8] Xu Y. New results on almost periodic solutions for CNNs with time-varying leakage delays [J]. Neural Comput Appl, 2014, 25: 1293
- [9] Zhang H. Existence and stability of almost periodic solutions for CNNs with continuously distributed leakage delays [J]. Neural Comput Appl, 2014, 24: 1135.
- [10] Liu B W. Pseudo almost periodic solutions for neutral type CNNs with continuously distributed leakage delays [J]. Neurocomputing, 2015, 148, 445.
- [11] Huang Z. Almost periodic solutions for fuzzy cellu-

lar neural networks with time-varying delays [J]. Neural Comput Applic, 2017, 28: 2313.

- [12] Huang Z. Almost periodic solutions for fuzzy cellular neural networks with multi-proportional delays[J]. Int J Mach Learn Cyber, 2017, 8: 1323.
- [13] Xu C J, Chen L L. Effect of leakage delay on the almost periodic solutions of fuzzy cellular neural networks [J]. J Exp Theor Artif Intell, 2018, 30: 993.
- [14] Liang J X, Qian H, Liu B W. Pseudo almost periodic solutions for fuzzy cellular neural networks with multi-proportional delays [J]. Neural Process Lett, 2018, 48: 1201.
- [15] Fink A M. Almost periodic differential equations[M]. New York: Springer-Verlag, 1974.

引用本文格式: 中 文:罗扬,李洪旭. 一类变时滞模糊神经网络系统解的渐近概周期性[J]. 四川大学学报:自然科学版, 2020, 57: 218. 英 文: Luo Y, Li H X. Asymptotical almost periodicity of solutions of a class of fuzzy cellular neural networks with varying time-delays [J]. J Sichuan Univ: Nat Sci Ed, 2020, 57: 218.